GCSE science grade 5 students: Foundation or Higher — what's best? AQ Ag

Realising potential

For many students the choice of tier is relatively straightforward. However, for potential grade 5
students the choice may be less clear-cut. A number of factors will affect a student’s performance.
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30% of the marks are common between tiers. The shaded area denotes the tier overlap grades available on
the current vs legacy GCSE sciences. . .

These are standard demand. gacy Taking the answers to the questions

There are no low demand questions on the Higher tier. The tier overlap grades are at a higher level of demand than on above into consideration will help decide
the legacy specifications. the most suitable tier for your student.
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